 Name
_____________________________



Period
_____
     Date ________________

Use Desmos and/or your calculator to complete the table and graph each function.
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x‑intercept is (____, 0).

Vertical asymptote is the line x =____.
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x‑intercept is (___, 0).

Vertical asymptote is the line x = _____.


Now let’s use our knowledge of transformations to move the asymptote left and right.

Let f(x) = 
[image: image5.wmf]3log

x

·

.  That was the example above.
QUESTION: Which of the following will shift the graph left 5 units?  Circle one.

	f(x + 5): 
[image: image6.wmf]3log(5)

x

·+


	or
	f(x) + 5: 
[image: image7.wmf]3log()5

x

·+




On the old graph, the asymptote of x = 0 means that x gets really close to 0.

QUESTION: When you move the graph left 5 units, x gets really close to ______.
Use your knowledge of graph transformations to graph your choice on the axes below:
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QUESTIONS:

What is the x‑intercept of your new graph?
_________________


What is the asymptote of your new graph? 
_________________

Summarize your findings in the following table.  Use your calculator to check your work. 
	
	We’ve done
this example
	Predict for

this one
	Predict for
this one
	Generalize

	Equation…
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	The x‑intercept is…
	
	
	
	N/A

	Vertical asymptote is…
	
	
	
	


QUESTION:  In the general form 
[image: image13.wmf]log()

yaxhk

=·-+

, will “k” have any effect on the location of the vertical asymptote?  Explain.
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